(p+bar{p})/(pi" + pi)

Ratio to LHCB

o O O

R, 92 N

o o NN
T TT T[T T[T TT T[T TIT [T [TTT[TTIT T

o
=
D

0.12

0.1

0.08

0.06

0.04

0.02

0.5

D

QOO Gevl Pp_

(p+p)/(Tt+17) vs |y| (0.0 < R < 0.8 GeV)

m LHCB
--3-- Herwig 7.0.0 default
—— Pythia 8.170 default
----- ¢ Sherpa 2.2.8 default

Soft QC

Rivet 3.1.0, = 100k events

mcplots.cern.ch [arXiv:1306.3436]

IIII|IIII|IIII__III|III|III|III|III|III|III|III|III|III|III—|_

N ! ! ! ! L

:l [ T T | T T

= 2

- M/A 1

5 i3 i

B L Ly N

B 05
| | . R 1

3 3.5 4 45



	Contents
	Page 1


